
Pg 1

EN

 Use 8*30mm screws with spacers 

Insert the small round wood into the side hole of the table board then combine two 
table boards 
(The small wood is used to assist in the installation of the table board and have no 
actual load-bearing function. Do not move the table board until the frame is installed). 
Make sure the screw holes of 2 Iron poles are in the same direction before you 
combine them. 
The connection of iron pole should not be on the same side of the table. 

30mm*8 *8

Using the wrong screws may damage the tabletop.

35mm*4 30mm*10 12mm*4*8 *18 *2

*2

A D

E

CB

E

E

E

B

B

B

B

B

B

B

B

B



Pg 2

EN
Use 2*12mm screws with spacers. Use 4*35mm screws with washers. Use 
2*30mm screws with washersand two matching nuts are required. 
The four foot pads need to be rotated clockwise to install.The cup holder and 
headphone holder need to be placed upside down on the bottom of the table and 
fixed with 4*12mm screws.Use adhesive cable clips to secure it to the edge of the 
table. Before installing the cable clamp, please peel off the protective film of the 
cable clamp.

Use eight screws to tighten.
Flip the table over and put in two cable grommets, the desk installation is complete.

Using the wrong screws may damage the tabletop.

*8 *2

Using the wrong screws may damage the tabletop.

*435mm*4 *4

12mm*4 *4 30mm*2 *2 *2

C

C C

C

C

C
C C

C

A

A

A

A

A

D

D

D

D

D

B

B

B



Pg 1

DE

 Verwende 8*30mm Schrauben mit Abstandshaltern.

Führe das kleine runde Holzstück in das seitliche Loch der Tischplatte ein und 
verbinde dann zwei Tischplatten.
Das kleine Holzstück dient zur Unterstützung der Installation der Tischplatte und hat 
keine eigentliche Tragfunktion. Bewege die Tischplatte nicht, bevor der Rahmen 
installiert ist.
Stelle sicher, dass die Schraubenlöcher der zwei Eisenstangen in die gleiche Rich-
tung zeigen, bevor du sie verbindest.
Die Verbindung der Eisenstange sollte nicht auf derselben Seite des Tisches sein.

30mm*8 *8

Die Verwendung der falschen Schrauben kann die Tischplatte beschädigen.

35mm*4 30mm*10 12mm*4*8 *18 *2

*2

A D

E

CB

E

E

E

B

B

B

B

B

B

B

B

B



Pg 2

DE
Verwenden Sie 2*12mm Schrauben mit Abstandshaltern. Verwenden Sie 4*35mm 
Schrauben mit Unterlegscheiben. Verwenden Sie 2*30mm-Schrauben mit Unter-
legscheiben und zwei passende Muttern sind erforderlich. 
Der Becherhalter und der Kopfhörerhalter müssen mit der Unterseite nach oben 
auf den Tisch gelegt und mit 4*12mm Schrauben befestigt werden.Verwenden Sie 
selbstklebende Kabelklemmen, um sie an der Tischkante zu befestigen. 
Bevor Sie die Kabelklemme installieren, ziehen Sie bitte die Schutzfolie der 
Kabelklemme ab.

Verwenden Sie acht Schrauben, um sie festzuziehen.
Kippe den Tisch um und bringe zwei Kabeldurchführungen an. Die Schreibtischin-
stallation ist abgeschlossen.

Die Verwendung der falschen Schrauben kann die Tischplatte beschädigen.

*8 *2

Die Verwendung der falschen Schrauben kann die Tischplatte beschädigen.

*435mm*4 *4

12mm*4 *4 30mm*2 *2 *2

C

C C

C

C

C
C C

C

A

A

A

A

A

D

D

D

D

D

B

B

B



A D

E

CB

E

E

E

B

B

B

B

B

B

B

B

B

Pg 1

IT

Utilizza viti da 8*30mm con distanziali.

Inserisci il piccolo tondo di legno nel foro laterale del piano del tavolo, poi unisci due 
piani del tavolo.
Il piccolo pezzo di legno viene utilizzato per assistere nell'installazione del piano del 
tavolo e non ha una funzione portante effettiva. Non spostare il piano del tavolo fino 
a quando la struttura non è installata.
Assicurati che i fori delle viti dei 2 pali in ferro siano nella stessa direzione prima di 
unirli.
La connessione del palo in ferro non deve essere sullo stesso lato del tavolo.

30mm*8 *8

L'utilizzo di viti errate potrebbe danneggiare il piano del tavolo.

35mm*4 30mm*10 12mm*4*8 *18 *2

*2



C

C C

C

C

C
C C

C

A

A

A

A

A

D

D

D

D

D

B

B

B

Pg 2

IT
Utilizzare viti da 2*12 mm con distanziali. 
Utilizzare viti da 4*35 mm con rondelle. 
Utilizzare viti da 2*30 mm con rondelle e due dadi corrispondenti. 
I quattro piedini devono essere ruotati in senso orario per essere installati.Il portab-
icchieri e il portacuffie devono essere posizionati a testa in giù sul fondo del tavolo 
e fissati con viti da 4*12 mm.Utilizzare i fermacavi adesivi per fissarli al bordo del 
tavolo. 
Prima di installare il fermacavi, togliere la pellicola protettiva del fermacavi.

Utilizza otto viti per stringere.
Capovolgi il tavolo e inserisci due passacavi, l'installazione del tavolo è completata.
 

L'utilizzo di viti errate potrebbe danneggiare il piano del tavolo.

*8 *2

L'utilizzo di viti errate potrebbe danneggiare il piano del tavolo.

*435mm*4 *4

12mm*4 *4 30mm*2 *2 *2



Pg 1

FR

Utilisez des vis 8*30mm avec des entretoises.

Insérez le petit bois rond dans le trou latéral du plateau de table, puis assemblez les 
deux plateaux de table. 
Le petit bois est utilisé pour faciliter l'installation du plateau de table et n'a aucune 
fonction porteuse réelle. Ne déplacez pas le plateau de table jusqu'à ce que le cadre 
soit installé.
Assurez-vous que les trous de vis des 2 poteaux en fer sont dans la même direction 
avant de les combiner.
La connexion du poteau en fer ne doit pas se trouver du même côté de la table.

30mm*8 *8

L'utilisation de vis incorrectes peut endommager le plateau de table.

35mm*4 30mm*10 12mm*4*8 *18 *2

*2

A D

E

CB

E

E

E

B

B

B

B

B

B

B

B

B



C

C C

C

C

C
C C

C

A

A

A

A

A

D

D

D

D

D

B

B

B

Pg 2

FR
Utiliser des vis de 2*12mm avec des entretoises. Utiliser des vis de 4*35mm avec 
des rondelles. Utiliser 2 vis de 30 mm avec rondelles et deux écrous assortis. 
Les quatre pieds doivent être tournés dans le sens des aiguilles d'une montre pour 
être installés.
Le porte-gobelet et le porte-casque doivent être placés à l'envers sur le fond de la 
table et fixés avec des vis de 4*12mm.Utilisez des serre-câbles adhésifs pour les 
fixer sur le bord de la table. 
Avant d'installer le serre-câble, veuillez retirer la pellicule protectrice du 
serre-câble.

Utilisez huit vis pour les serrer.
Retournez la table et insérez deux passe-câbles, l'installation de la table est 
terminée.

L'utilisation de vis incorrectes peut endommager le plateau de table.

*8 *2

L'utilisation de vis incorrectes peut endommager le plateau de table.

*435mm*4 *4

12mm*4 *4 30mm*2 *2 *2



A D

E

CB

E

E

E

B

B

B

B

B

B

B

B

B

Pg 1

ES

Utiliza tornillos de 8*30mm con espaciadores.

Inserta el pequeño trozo de madera redonda en el agujero lateral de la tabla de la 
mesa y luego combina dos tablas de la mesa.
La pequeña madera se utiliza para ayudar en la instalación de la tabla de la mesa y 
no tiene una función real de carga. No muevas la tabla de la mesa hasta que se 
haya instalado el marco.
Asegúrate de que los agujeros de tornillo de las 2 varillas de hierro estén en la 
misma dirección antes de combinarlas.
La conexión de la varilla de hierro no debe estar en el mismo lado de la mesa.

30mm*8 *8

Usar los tornillos incorrectos puede dañar la superficie de la mesa.

35mm*4 30mm*10 12mm*4*8 *18 *2

*2



C

C C

C

C

C
C C

C

A

A

A

A

A

D

D

D

D

D

B

B

B

Pg 2

ES
Utilice tornillos de 2*12mm con espaciadores. 
Utilice tornillos de 4*35mm con arandelas. 
Utilice tornillos de 2*30 mm con arandelas y dos tuercas a juego. 
El soporte para tazas y el soporte para auriculares deben colocarse boca abajo en 
la parte inferior de la mesa y fijarse con tornillos de 4*12mm.
Utilice abrazaderas de cable adhesivas para fijarlo al borde de la mesa. Antes de 
instalar la abrazadera de cable, por favor despegue la película protectora de la 
abrazadera de cable.

Utilice ocho tornillos para apretar.
Voltea la mesa y coloca dos pasacables, la instalación de la mesa está completa.

Usar los tornillos incorrectos puede dañar la superficie de la mesa.

*8 *2

Usar los tornillos incorrectos puede dañar la superficie de la mesa.

*435mm*4 *4

12mm*4 *4 30mm*2 *2 *2



Pg 1

JP

スペーサーを使用した8*30mmのねじを使用してください。

テーブルボードの側面の穴に小さな丸い木を挿入し、2つのテーブルボードを組み合わ
せてください。
小さな木はテーブルボードの設置を補助するために使用され、実際の耐荷重機能はあり
ません。フレームが設置されるまでテーブルボードを移動しないでください。
2本の鉄製支柱のねじ穴が同じ方向を向いていることを確認してから組み合わせてくだ
さい。
鉄製支柱の接続はテーブルの同じ側にならないようにしてください。
 

30mm*8 *8

間違ったねじを使用すると、テーブルトップが損傷する可能性があります。

35mm*4 30mm*10 12mm*4*8 *18 *2

*2

A D

E

CB

E

E

E

B

B

B

B

B

B

B

B

B



C

C C

C

C

C
C C

C

A

A

A

A

A

D

D

D

D

D

B

B

B

Pg 2

JP
2*12mm ネジとスペーサーを使用します。
ワッシャー付きの 4*35mm ネジを使用します。
ワッシャー付きの 2*30mm ネジと 2 つの適合するナットを使用します。
カップホルダーとヘッドフォンホルダーはテーブルの底面に下向きに置き、4*12mm 
ネジで固定する必要があります。
粘着性のケーブルタイを使用してテーブルの端に固定します。 ケーブルクランプを取り
付ける前に、ケーブルクランプの保護フィルムを剥がしてください。

固定するために8本のネジを使用してください。
テーブルを裏返して、2つのケーブルグロメットを取り付け、デスクの設置は完了で
す。

間違ったねじを使用すると、テーブルトップが損傷する可能性があります。

*8 *2

間違ったねじを使用すると、テーブルトップが損傷する可能性があります。

*435mm*4 *4

12mm*4 *4 30mm*2 *2 *2


